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QUESTION 1 Which command prevents Layer 2 loops if the switch stops receiving spanning-tree keepalives on port ge-1/0/1?
A.&#160;&#160;&#160; [edit protocolsrstp] user@switch# show interface ge-1/0/1{  &#160; bpdu-block; }
B.&#160;& #160;& #160; [edit protocols layer2-control] — user@switch# show interfacege-1/0/1{ &#160;
bpdu-time-out-action{  &#160;&#160;&#160; block; &#160;&#160;&#160; darm; &#160;} }

C.&#160;& #160;&#160; [edit protocols layer2-control]  user@switch# show  bpdu-block {  &#160; interface ge-1/0/1; }
D.&#160;&#160;& #160; [edit protocolsrstp]  interfacege-1/0/1 { &#160; no-root-port; } Answer: D QUESTION 2

Click the Exhibit button. &#160 06-010/5. SiSeanecsn . Vian 20
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You are attaching into an EX Series switch-1alegacy | P phone that does not support LLDP-MED, but does allow configuration
using DHCP, as shown in the exhibit. Y our existing network QoS policies dictate that Vol P traffic must traverse over VLAN 10.
Which two actions put Vol P traffic onto VLAN 107 (Choose two.) A.&#160;&#160;&#160; Configure protocols cdp on switch-1.
B.&#160;&#160;& #160; Manually configure the voice VLAN on the IP phone.  C.&#160;&#160;&#160; Configure vian 1
under forwarding-options bootp.  D.&#160;& #160;&#160; Configure interface ge-0/0/5 under forwarding-options bootp. Answer:
BD QUESTION 3 What are three types of port designation specific to Private VLANS? (Choose three.) A.&#160;& #160;&#160;
Promiscuous ports  B.&#160;& #160;& #160; Transparent ports  C.&#160;& #160;&#160; PVLAN trunk ports
D.&#160;& #160;&#160; Designated ports  E.&#160;& #160;&#160; Isolated ports Answer: ACE QUESTION 4 Click the
Exhibit button.  &#16C orevp ext-peect |

type external;

peec-as 1;

neighbor 15%2.168.2.1;
1

lab@acxD-2# run show route 1%2.168.2.1

inet.0: 2 destinstions, 10 coutes (T astive, 0 holddewn, 2 hidden)
+ = Active Route, = = Last Active, * = Both

s Bpaineingp2gdo.com

[edit protoscls bap]
lab@arxD-2# run show hgp summary
GEGUPB: 1 Peers=: 1 Down peears: 1

Table Tot Patha Act Pathas Buppressed History Damp State Pending
inet.0 0 o ]
inets. 0 ] [} 0 a 0 0
Besr A8 InPkt OutPkt outl Plaps Last Up/Dwn
Btatel#active/Received/Accepted/Danped. . .

192.168.2.1 1 o a o (1] 14 Idle

L ooking at the output in the exhibit, why is the BGP neighbor not in Established state? A.&#160;&#160;&#160; BGP Refresh is
not supported. B.&#160;&#160;&#160; Multihop is not configured.  C.&#160;&#160;&#160; The peer addressis not reachable.
D.&#160;&#160;&#160; Authentication is configured. Answer: B QUESTION 5 Which two statements about MVRP on EX

Series switches are true? (Choose two.) A.&#160;&#160;&#160; MVRP can add VLANS on access interfaces.
B.&#160;&#160;&#160; MVRP can add VLANs on trunk interfaces.  C.&#160;&#160;&#160; MV RP adds VLANs on

MV RP-enabled interfaces by default.  D.&#160;&#160;&#160; MVRP isin transparent mode on MV RP-enabled interfaces by
default. Answer: BC QUESTION 6 Your customer has five office locations.  Each office location has 20 VLANSs configured,
one for each department. Y our engineering team has recently secured a government contract with strict regul ations which require
that engineers be placed into separate workgroups.  These workgroups cannot communicate with each other.  Without changing
the primary VLAN assignments, which JUNOS feature meets this requirement with minimal configuration?

A.&#160;& #160;&#160; Create a series of firewall filtersto block usersin each workgroup. B.&#160;& #160;& #160; Configure a
Private VLAN and assign each workgroup asecondary VLAN.  C.&#160;&#160;&#160; Configure Virtual Private LAN Service
toisolate broadcast domain. D.&#160;& #160;&#160; Turn off the default BUM (Broadcast, unknown, multicast) flooding mode.
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Answer: B QUESTION 7 Click the Exhibit button.  &#160
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In the exhibit, switches S1, S2, and S3 have Q-in-Q tunneling configured between Site 1 and Site 2. Which configuration on
switch Sl allows Site 1 and Site 2 to exchange Cisco Discovery Protocol (CDP), but blocks VLAN Trunking Protocol (VTP)
between Site 1 and Site 2? A.&#160;&#160;&#160; { master:0} [edit vlans provider-vlan] user@S1# set dot1g-tunneling
layer2-protocol-tunneling cdp  B.&#160;& #160;& #160; { master:0} [edit vlans provider-vlan]  user@S1# set dotlg-tunneling
[2tpcdp C.&#160;&#160;&#160; { master:0} [edit vlans provider-vlan]  user@S1# set dot1g-tunneling
layer2-protocol-tunneling deny vtp  D.&#160;&#160;& #160; { master:0} [edit vlans provider-vlan]  user@S1# set
dotlg-tunneling I2tp deny vtp Answer: A QUESTION 8 A coffee shop offering free Internet service to customers wants to
implement the following security policies: 1. Every customer must agree to a set of terms and conditions before accessing the
Internet. 2. Log out customers that are logged in for more than one hour. 3. Log out customers that are idle for more than 5
minutes. 4. Authenticate employee desktop computers with known hardware addresses in the office of the coffee shop to access
the Internet without the aboverestrictions.  The following configuration has been applied to the switch:  set access radius-server
172.16.14.26 port 1812  set access radius-server 172.16.14.26 secret Am@zingCO0f33  set access profile dot1x
authentication-order radius  set access profile dot1x radius authentication-server 172.27.14.226  What would you add to
implement these policies? A.&#160;&#160;&#160; set protocols dot1x authenticator interface ge-0/0/12.0 supplicant multiple  set
protocols dot1x authenticator interface ge-0/0/12.0 mac-radius  set protocols dot1x authenticator authentication-profile-name dot1x

Set services captive-portal authentication-profile-name dotlx — set services captive-portal interface ge-0/0/12.0  set services
captive-portal secure-authentication https  set services captive-portal custom-options header-message "Welcome to Our Coffee
Shop"  set services captive-portal custom-options banner-message "Terms and Conditions of Use"  B.&#160;& #160;& #160; set
protocols dot1x authenticator interface ge-0/0/12.0 supplicant multiple  set protocols dot1x authenticator
authentication-profile-name dot1x  set services captive-portal authentication-profile-name dotlx  set services captive-portal
interface ge-0/0/12.0  set services captive-portal secure-authentication https ~ set services captive-portal custom-options
header-message "Welcome to Our Coffee Shop"  set services captive-portal custom-options banner-message " Terms and
Conditions of Use"  C.&#160;&#160;&#160; set protocols dot1x authenticator interface ge-0/0/12.0 supplicant multiple  set
protocols dot1x authenticator interface ge-0/0/12.0 mac-radius  set protocols dot1x authenticator authentication-profile-name dot1x

set services captive-portal authentication-profile-name dotlx  set services captive-portal interface ge-0/0/12.0  set services
captive-portal interface ge-0/0/12.0 idle-timeout 300  set services captive-portal interface ge-0/0/12.0 user-timeout 3600  set
services captive-portal secure-authentication https  set services captive-portal custom-options header-message "Welcome to Our
Coffee Shop"  set services captive-portal custom-options banner-message "Terms and Conditions of Use"
D.&#160;&#160;& #160; set protocols dot1x authenticator interface ge-0/0/12.0 supplicant multiple  set protocols dot1x
authenticator interface ge-0/0/12.0 mac-radius  set protocols dot1x authenticator interface ge-0/0/12.0 idle-timeout 300 set
protocols dot1x authenticator interface ge-0/0/12.0 user-timeout 3600  set protocols dot1x authenticator
authentication-profile-name dot1x  set services captive-portal authentication-profile-name dot1x  set services captive-portal
interface ge-0/0/12.0  set services captive-portal secure-authentication https  set services captive-portal custom-options
header-message "Welcome to Our Coffee Shop"  set services captive-portal custom-options banner-message " Terms and
Conditions of Use" Answer: A QUESTION 9 Click the Exhibit button. & #160 R "
6o
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In the PIM-SM network in the exhibit, al linksin the topology have the same IGP metric configured. ~ Which link will not be
onthe RPT? A.&#160;&#160;&#160; R1-R4 B.&#160;&#160;&#160; R3-R6  C.&#160;& #160;& #160; R4-R5
D.&#160;&#160;&#160; R5-R6 Answer: A QUESTION 10 Click the Exhibit button.  &#160 |
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In the exhibit, Site 1 is sending traffic on VLANs 100, 200, and 300.  The provider operating switch S1 must configure Q-in-Q
tunneling to transport VLANs 100 and 200 to Site2.  The provider must configure switch S1 to block traffic received from site 1
on VLAN 300. Which configuration accomplishes this goal? A.&#160;&#160;& #160; { master:0} [edit vlians pv200] user@S1#
show vlan-id 200; interface{ &#160; ge-0/0/0.0; &#160; ge-0/0/1.0; } dotlg-tunneling{ &#160; customer-vlians|
100200]; } B.&#160;&#160;&#160; { master:0} [edit vlans pv200]  user@S1# show vlan-id [100 200]; interface {
&#160; ge-0/0/0.0{ &#160;&#160;&#160; dotlg-tunneling { & #160;&#160;& #160;&#160;& #160; block-vlans 300;
&#160;&#160;&#160; }  &#160;} &#160; ge-0/0/1.0; } C.&#160;&#160;&#160; { master:0} [edit vlians pv200]
user@Si1# show vlan-id 200; interface{ &#160; ge-0/0/0.0; &#160; ge-0/0/1.0; } dotlg-tunneling{ &#160;
block-vlans300; } D.&#160;&#160;&#160; { master:0} [edit vlans pv200]  user@S1# show vlan-id 200; interface{
&#160; ge-0/0/0.0{ &#160;&#160;&#160; dotlg-tunneling{ &#160;&#160;& #160;&#160;&#160; customer-vlians[ 100 200
],  &#160;&#160;&#160;} &#160;} &#160; ge-0/0/1.0; } Answer: A QUESTION 11 Click the Exhibit button.

&#160

The four routers in the exhibit are participating in a multi-area OSPF topology.  Node B (in the upper right-hand corner) is an
ASBR advertising an external route.  Node A (lower left-hand corner) receives the external route and begins to forward traffic to
the ASBR. How many hops will the packets take through this topology? (Do not count node A.) A.&#160;&#160;&#160; 2
B.&#160;&#160;&#160; 3 C.&#160;&#160;&#160; 4 D.&#160;&#160;&#160; 5 Answer: C QUESTION 12 Click the
Exhibit button.  &#16C v -
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The phone connected to switch-1 in the exhibit cannot communicate with the rest of the network.  How do you solve this
problem? A.&#160;&#160;&#160; Add the VLAN named voice as a member of the trunk on interface ge-0/0/12.0.
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B.&#160;& #160;& #160; Configure the voice VLAN on interface ge-0/0/6.0.  C.&#160;&#160;&#160; Add interface ge-0/0/12.0
to the ethernet-switching-options voip hierarchy.  D.&#160;&#160;&#160; Configure LLDP-MED for interface ge-0/0/12.0.
Answer: A QUESTION 13 You are AS 6573.Which AS path regular expression matches only routes originated in your AS?
A.&#160;&#160;& #160; "6573.*" B.&#160;&#160;&#160; "*" C.&#160;&#160;&#160; "{" D.&#160;&#160;&#160; "$"
Answer: D QUESTION 14 Which protocol reachability is advertised by OSPFv2? (Choose two.) A.&#160;&#160;&#160; |Pv4
B.&#160;&#160;& #160; IPv5 C.&#160;&#160;&#160; IPv6  D.&#160;& #160;& #160; ISO Answer: AD QUESTION 15
Click the Exhibit button.  &#160 sisirecss shew bap sy

Groupst 1 Descs: 3 Dosm peers: O

Table Tot Paths Act Paths Suppressed History Damp State FPending

inet.0 ] L] g L] . ]

inezé.d 1 L] a a a o

Eeesr A2 Inskt CrakTkt Cutl  Plaps lask Up/Dwm

Stete|BActive/Received/Accepted /Danped...

200L: EEEL: Y 65350 L >} 43 L 0 18:20 Establ
inet.0: 0/L/170

200188t 2 3ed 65550 12 43 0 o 1B:16 Eatabl
irmeté.0: 0/0/0/0

2001 teed: s 9:7 65550 42 43 0 0 16:00 Barabl

inets.0: 0/0/040
adnindB0MA> shew route receive-protocel bgp 2001:4£££::3:3
anet.0: 32 destinations, 33 routes (32 active, O holddown, 0 hidden)
_Juriper_privazel .inet.D: 4 destinstions, § routes (2 active, 0 holddown, 2 hidden)
220.0¢ 1 destipations, 1 routes (1 sctive, 0 helddewn, 0 hidden)

rpla.0; 3 destinstions, 3 routes (3 setive, 0 holddewn, O hidden)

insed.0: 10 d.m_,:.-rc m] 14 I.1J f10 m-r “;{5’ Ftaumrtl hu.dﬁ-n\
Prefi =~ | [ el +h
2000111281 /60 f; JEJPBJJJ J Fﬁt

sdnind30MA> show pouts 200LiL:dy:

ineté.0: 10 destinations, 14 coutes (10 astive, U hoelddown, O hidden)
* = Aztive Route, = = Last Astive, * = Bath

200L:1: 200784 *[OSPPISE0] DL:3H:1L, metric 201
* to feBl::217:cb03:2440:bd00 via {e-0/0/1.804
[BER/1T0] 00:18:43, locelpref 100, from 2008:fd88::3:3
A# path: I
* o £eBl::217:cb03:2446:bd00 via fe-0/0/1.604

ndnindaiMA> show coute sdvertising-protocel bgp 200L1:ffff::3:7

adninfsCMA>  show configuration protecols bgp
geoup ibgpwd |
type internal;
locsl-eddress 2001; ££6£::3:5;
cluseer 10.0.3.4;
melghber 200L:$€8€:23:3;
neighber Z001:f€£€:1:3:4;
neighbor 200L:f€ff::9:7;
1

sdnd nd S0MA>

You are using an IBGP route reflector within your network. Y our route reflector has received the 2001:1:2::/64 prefix, but it is
not advertising the prefix to its cluster members.  After examining the route reflector, you notice the output shown in the exhibit.
Which configuration statement causes the route reflector to transmit the route to its IBGP peers? A.&#160;&#160;& #160; set
protocols bgp group ibgpv6é advertise-inactive B.&#160;&#160;& #160; set protocols bgp group ibgpvé accept-remote-nexthop
C.&#160;& #160;&#160; set protocols bgp group ibgpvé multipath  D.&#160;& #160;& #160; set protocols bgp group ibgpvé
include-mp-next-hop Answer: A Passing your Juniper JINO-643 Exam by using the latest Juniper JNO-643 Exam Demo Full
Version: http://www.braindump2go.com/jn0-643.html
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